Subject: Re: histogram and binsize problems
Posted by K. Bowman on Thu, 27 Feb 2003 19:31:18 GMT

View Forum Message <> Reply to Message

In article
<Pine.LNX.4.33.0302271407160.4043-100000@hapuna.ess.sunysb.edu>,
Chad Bender <cbender@mail.astro.sunysb.edu> wrote:

> | tried a few other things to see if | could figure out something of what
> histogram is doing. It's obvious from something like the following that
> histogram has rounding issues at the bin boundaries.

One option is to do your own scaling and conversion to integer, then use
histogram with a binsize of 1. Then you can control how the rounding
occurs.

Ken Bowman
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